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Why is this different from a pit, where he chops it down and pays
money? Rav Kahana said, a pot of partners, etc.

OVERVIEW-

The 71wn ruled that if a tree was planted within twenty-five X of an established
city, the tree may be chopped down without any compensation to the owner. The
X3 asked why is this different from the case where one planted his tree within
twenty-five MR of a pit (which he is [also] not permitted to do), where the rule is
that the owner of the pit may chop down the tree but he must compensate him for
the value of the tree. X172 27 responded (with a folk-saying) that a pot which
belongs to partners is not hot and not cold.? Therefore, if we would obligate all the
people of the city to pay him for his tree, no one will step forward to do so and the
tree will remain blighting the city.

n1voIN asks:
= ARNYV INNN DT 19 INNN ) DTP 1PINAYI 19 ON DNIAN )2 PYNY 139297 NN

It is astounding to the X''aw+, if indeed it is so (that a "> *smw °27 X77°p), so for

the same reason, even when the tree preceded the city, why do we give money
for the tree in order to chop it off —

N190IN answers:
- 1129 19NN AN IIEYNS BN SWINY PR 90PN 7907 1193 D17 19IRAWIT 9199 U

And one can say; if the tree preceded the city, since he was permitted to plant
near the future city, there is no concern if the people will be lazy and the tree
will remain standing -

nvoIN asks:

'See 's mx 1127 M who amends the X3 to read X17°P MWK MART 119357 X170 (instead of X717 R3d).
2 See ‘Overview’ to previous PR nin 7"7 Moo,
3 Today we would say, ‘too many cooks spoil the broth’.
4 The *smw >27 X172 will hold them back from giving money to chop down the tree, so the tree will remain and
blight the city. Therefore, just as by o7p 7°¥i7 (even though he should be paid, however) on account of ¥5nw 27 7P
he does not get paid, the same should be if 27p 17°X.
3 In the case of M0o°X2 70 (where it was O7p 7°wi), we cannot allow the tree to remain standing, since he violated the
10°K; however, we cannot make them pay on account of *o>mw *27 *37°p; however, if he was 2072 10 (the 12°K was
07p), we cannot have them chop down the tree without paying him; he did nothing wrong. If it turns out that (on
account of *5mw 27 *17°p) they will not pay him, it is their issue if their city is blighted.
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However, the X"2w" has another difficulty; how does the concept of %27 X97°p
onw apply here; for do they not chop down the tree first, before they give
money?!

N1B0IN answers:
- NP NI NN KY S9MY 227 NITP DIVNRT VIS 5507 PNYS 19529 91IN)

And the %''9 says that this is the explanation; that since the communal pot is

not hot and not cold -
- YN NPT 2) YY GNT 00T NIY 1PNY I8 NY

The 02011 did not want to institute that they should be required to pay money,

for even though they can first chop down the tree, nevertheless -
- 70541 99 15 1 Y1 XY N NYNH \IPY 01Y ¥HRYS XYY DY

Occasionally the tree owner will not listen to them and allow them to first chop

down his tree, unless he knows who will pay him the money -
199 WIS 1NN H¥a 23 0T 111PY KIY 279 Y179 KDY YN TN TN 999

And each one will be reluctant to commit himself, and he will not chop it down,
in order that he should not be required to pay the money, since he knows that
the tree owner will demand payment from him.

SUMMARY

We are not concerned for *omw °27 *77°2, when he was n°12 210; since he did
nothing wrong, we are not concerned that they will leave the tree. If there would be
a requirement to pay (even if M0°X2 T10), they would not chop down the tree
because the owner would demand to know who is paying him.

THINKING IT OVER
Can we explain what is the pivotal difference between the X"21¥™ (who asks the
question) and the >"7 (who answers it)?

% In the case where o7 11 vXIp, the order of things are first the tree is chopped down and then he is compensated
for the tree. Why do we therefore say in a case of a7p 7°vi1 that we do not pay, because if we would be required to
pay, there would be the issue of *amw °27 *17°p, but why should that be an issue. Let the ruling be that even if "7
a7p they have to pay (just as it is by 712). They will first chop down the tree; there should be no problem with that,
and then let the tree owner claim compensation from the city in a 7"2. Let it be his problem; the rule should be yxp
(first, and then) o°»7 10 (later)!

7 We are now assuming that the rule is 2°»7 Jm v¥p. The tree owner will argue, since you are obligated to pay me,
you have no permission to chop down my tree unless I know who takes upon himself the obligation to pay me.
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